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NASZEA 012 NE(IAIZ 14E 22X S4)(H 40,000 50,150 ~10,150
2Ae)
= 30,000
Ea 10,000
101 @12A4H| 8,000 0 8,000
= 6,000
o 2,000
04 JIZtN2Z2 XS+ 8,000 0 8,000
O & g0l 2422 & Mz=&d 8,000
== 6.000
[Ea 2,000
201 er23| 8,000 150 7,850
= 6,000
= 2,000
01 At2teltl 2,000 0 2,000
O & 4030l 225 L ARES 7 2,000
= 1,500
[Ea 500
02 s3=gHl 6,000 150 5,850
O d& 40l 0IREE, e de=s
Eli= b3S, 6,000
< 4,500
= 1,500
206 MH=Hl 8,000 0 8,000
= 6,000
Ea 2,000
01 M=4l 8,000 0 8,000
O Z2& &Jd0l Mgz 23
=374 8,000
== 6,000
o 2,000
307 glztol & 12,000 50,000 238,000
= 9,000
= 3,000
02 2B YA E X 12,000 50,000 38,000

- 570 -




A =2t
M NOISAPH U MEISRNM
el Fyaxss s A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O & 240l 0l2Y MEf2H2X At
X (2Ot QIHEIE) 12,000
= 9,000
Ea 3,000
405 AtaHE = 4,000 0 4,000
== 3,000
o 1,000
01 Tt =S F=H 4,000 0 4,000
O JuleXt, #&, 23], 0OlSZI 4,000
< 3,000
= 1,000
HENH WS EE XA 45,000 40,000 5,000
= 20,000
< 12,000
= 13,000
101 @124H| 45,000 40,000 5,000
= 20,000
== 12,000
o 13,000
M ORNZZ2NSE S 45,000 40,000 5,000
O MEfANSYE EIXIAE (HEINAIS)
160,000 x10H «253] 40,000
= 20,000
s 12,000
s 8,000
O &fdl BlHIE0tE dEA A= Mo
t (F=RIZ 01011 4t) 5,000
OrdESE TIoHOIE A (XEAI) 272,507 271,09% 1,412
101 @124H| 3,787 3,695 92
MU IIRINZZE2NSES 3,787 3,695 2
O RoliOtlS=E AtMIXC 12
78,8802 x4 *13|x 12 3,787
201 et 3| 9,120 9,300 A180
01 At2t2l] 7,500 7,500 0
O =oli0tdSE ZESQIHA, AEH, S5
=8 s 1,000
O ZEA SAIE2 H2ME0 dXs
LdHAES, JItt 1,625, 00094*4—.—D| 6,500
02 S3=gHl 1,620 1,800 A180
O Xl (A2) 1,620
206 M=l 15,600 15,600
01 M= HI 15,600 15,600
O KoliordsE == ol JITH XIS 15,600
301 EtE NS 182,000 180,500 1,500
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 182,000 180,500 1,500
O ==2| WX A& 2| XN&
100,000 *30& 3,000
O SHOMSE T8 Pa3
100,000& %1,5000+2! 150,000
O =olittdsSE s&E S Lol2d
500,000 *40= It 20,000
O ==D| oYX 28 XA
300,000& %30 9,000
307 gl2to| & 12,000 12,000
06 28= 12,000 12,000
O 287 IHENS 22282
400,000 *30H 12,000
402 212 X201 & 50,000 50,000
01 QI X2 AL E R (KHHITHE) 50,000 50,000
O OIMES TS0
1,000, 000%50= 7t 50,000
OrdESE ToHUE AFH(EX) 116,600 63,940 52,660
= 58,300
S 18,223
= 40,077
206 M=l 72,600 0 72,600
= 36,300
< 10,890
[Ea 25,410
01 M= H| 72,600 0 72,600
O RolOrSE ZAMIX el 72,600
= 36,300
s 10,890
s 25,410
402 212 X201 & 44,000 63,940 19,940
= 22,000
=S 7,333
s 14,667
02 RIENEASEZ(0IETHR) 44,000 63,940 19,940
O 0SS TIoHoIZ ALY 44,000
= 22,000
= 7,333
o 14,667
F0tlSE sH2 S L2 (EX) 40,000 40,000 0
< 4,000
[Ea 36,000
301 2eEN= 40,000 40,000 0
& 4,000

- 572 -




A =2t
M Ngetd2d 2 dejed3ond
el Fyaxss s A (SH9 H2)
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[Ea 36,000
14 0Bt 243 40,000 40,000 0
O Riittdis=E s&= S Lldi2d 40,000
s 4,000
s 36,000
SH20F ALY =& 7,250 10,328 23,078
202 04l 4,950 5,628 AB78
01 =LHO LI 4,950 5,628 AB78
O BEEME STl
70,0002 x5H * 123 %70/100 2,940
O 32% (HAEE) 280l
80,0008 x1&x 122 960
O =4t =22 E 28t SH0i]
20,0002 x5 x152]70/100 1,050
203 HR=H] 2,300 2,700 A400
03 A=A =AY 2,300 2,700 2400
O 2ZEE0F AIRFA P24 2,300
N RES Rt d= 14,400 19,200 24,800
201 eer23| 14,400 19,200 /4,800
01 AtR2t2lHI 4,800 7,200 A2,400
O 8N Res 2NN 72
602 *42]x20,0000H 4,800
2 Ss52g4l 9,600 12,000 22,400
O SZMERYEE OXA &2 RES
2|+8,0000H*300& 9,600
AR BIEA HZAILXH (21 24H]) 20,969 22,011 A1,042
01 @IAH| 20,969 22,011 A1,042
MU IIRINZENSES 20,969 22,011 A1,042
O E=ZRA DIIHA AFE HREX 20,969
2= 78,8803 222 +0E 15,619
-ReERgsE 78,8803 x4 F=+0F 2,840
-AXt=E 78,8803 0! 710
-l 288 200,000 0 1,800
SO SEAIE A XIS ALS 39,000 39,000
301 EtE NS 39,000 39,000
14 JIEt2 a3 39,000 39,000
O &IIXt SHAE SMtA XA
3,000,000 * 1374 2~ 39,000
pra2 UM M3 ARG (HEALY) 2,400,000 0 2,400,000
< 800,000
s 1,600,000
401 Al HIZL 01| 2,400,000 0 2,400,000
= 800,000
= 1,600,000
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01 Al&HI 2,400,000 0 2,400,000
oY Y MESE gAY
=(HEAY) 2,400,000
= 800,000
Ea 1,600,000
HHSIAAMSA A2 € A= 2LIHE 25,067 25,067
101 ©1AH| 2,067 2,067
04 JIZtN2Z2XNSE+ 2,067 2,067
O HEHS A Ol= 22 Y 2,067
401 Al HIZL 201 23,000 23,000
01 Al&HI 23,000 23,000
O HEHSTAMHA A= 2LIHEY 2 AMES
2= 23,000
OIHNITHE <t detd8H 4,524,481 4,713,296 188,815
= 2,360,668
) 73,050
S 632,514
= 1,458,249
OIMEIX M2 X 4,524,481 4,713,296 188,815
= 2,360,668
Jl 73,050
= 632,514
[Ea 1,458,249
BASYEQIEN (OIHX 20F) QIMEE 142,000 142,000 0
Il 71,000
= 28,400
= 42,600
301 EtE N = 142,000 142,000 0
) 71,000
< 28,400
s 42,600
14 IIEt2 8= 142,000 142,000 0
O BASEHELE (0IHXIZ0H HEE
A= 142,000
Jl 71,000
== 28,400
= 42,600
AR BIEIIA HZA (S8]) 1,580,300 2,301,000 AT720,700
= 809,950
[ 231,106
T 539,245
301 LEIE NS 1,580,300 2,301,000 AT720,700
= 809,950
== 231,106
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[Ea 539,245
4IIEet2d=s 1,580,300 2,301,000 AT720,700
O SR BHEIIA MZAH 1,580,300
= 809,950
= 231,105
o 539,245
IS 00 X2 2,710,000 2,010,000 700,000
= 1,520,000
= 357,000
= 833,000
402 QI2FX+=01 & 2,710,000 2,010,000 700,000
= 1,520,000
< 367,000
s 833,000
02 QI X2 AL EE(0IETHE) 2,710,000 2,010,000 700,000
O MIIXSX FOHXIE (RIRE)
13,800,000 *100CH+19, 000, 000 +70CH 2,710,000
= 1,520,000
< 357,000
= 833,000
HII0IEX 2SS A 8,000 18,000 10,000
= 4,000
Ea 4,000
402 2IZtA=01d 8,000 18,000 10,000
= 4,000
o 4,000
02 BIENZASEZ(0IETHR) 8,000 18,000 10,000
O &II0IEX ESAME
1,600,000 «5CH 8,000
= 4,000
T 4,000
Olgl0|Setxte LPGRE M X At 35,000 35,000 0
= 17,500
[ 5,250
Ea 12,250
402 BIZtAH=01A 35,000 35,000 0
= 17,500
s 5,250
s 12,250
02 QIZEXHE AL 2 X (01 & THE ) 35,000 356,000 0
O Oelol Stxte LPGRE & XA
7,000,000 ~5CH 35,000
= 17,500
=S 5,250
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M DIHNUE #Igt deFEH
=l OIMEA M XA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 20,330
02 QA AAEE X 29,043 0 29,043
O oeloly HHAR= A Xd 29,043
s 8,713
s 20,330
HeEs (&) 3,100,000 7,630,431 A\4,530,431
WHEHHXIZ (K=&t t) 3,100,000 7,630,431 24,530,431
HOISMelAE 28013 (H8) 3,100,000 7,630,431 24,530,431
@RJIsdEs 3,100,000 7,630,431 /4,530,431
0 JIsdEs 3,100,000 7,630,431 4,530,431
O HPISXCIAE Xd)I8 8&E3 3,100,000
HY2AHH(HF =) 38,861 42,132 A3,271
Jl=3H| 38,861 42,132 A3,271
JI=23H] 38,861 42,132 A3,271
201 Ler23| 17,129 19,764 A2,635
01 At2teltl 17,129 19,764 A2,635
O At=2telt] 19,032, 0002 *90/100 17,129
202 048l 16,632 17,388 AT56
01 2L AL 16,632 17,388 AT56
O =Uol 90,0002 x22& *12&+70/100 16,632
203 2R =L 5,100 4,980 120
FA2E YR 5,100 4,980 120
O NHa=gt2d FA2I L2
425,0002 123 5,100
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